Grille Installation Instruction Rev. 140501

Part# GR14HFH80H | 10-12 Nissan Altima Sedan Main Upper

Item | Part Name | QTY Description Item| Part Name QTY Description
Parts 1 |Billet Grille 1 |17 billets 4 Lock Washer 6 M6
List 2 | Hex bolt 6 | M6*40 5 Flat washer 12 M6
3 |Lock nut 6 |M6 6 Extended tab 2 /
Install Notes: Overlay | * Replacement v Drill | X Cut | X
Step Description illustration

Identify the grille & hardware with parts
list.

Remove the OEM
grille & grille shell

Hood up, remove the OEM grille & grille
shell from vehicle according to the user menu

In order to prevent vehicle scratched during
3 grille installation, tape around the grille
opening on the front bumper.

Insert the billet grille onto the opening of
the front bumper.

-
The instruction here is for your reference only. You may need to bend the grille a little bit to
adjust to fit. We strongly recommend the professional installer for best result. We are not

S responsible for any damage caused by the installation. Thank you for choosing our product!




Grille Installation Instruction Rev. 140501
Part# GR14HFH80H | 10-12 Nissan Altima Sedan Main Upper
Step Description illustration

Attach the extended tabs on the upper
welded tabs on the rear of the billet grille
with hex b bolts, lock nuts, flat washers

Hex bolt, flat washer,
lock washer & lock
nut

Cross bar on
vehicle

5 & lock washers.
And then, attach extended tabs onto the
cross bar on vehicle with hex bolts, flat
washers, lock washers & lock nuts.
Extended tab, hex
bolt, flat washer, lock
washer & lock nut
Bolt, flat washer, lock
Slot on front bumper washer & lock nut
Insert the lower welded tabs into the slot
on the front bumper. Push the billet grille [ L \ded tab
6 to attach the front bumper, and then ?_Z/ ower welded ta
fasten the billet grille with hex bolts, flat
washers, lock washers & lock nuts. ! :
|
. |
Clean up the tape which was taped on
7 the vehicle on step 3.

And then, installation completed!!!

The instruction here is for your reference only. You may need to bend the grille a little bit to
adjust to fit. We strongly recommend the professional installer for best result. We are not
responsible for any damage caused by the installation. Thank you for choosing our product!






